2.7-16 On a road trip, five friends drove at 50 miles per hour to California. On the way home, they took
the same route but drove 65 miles per hour. How many miles did they drive on the way to
. California if the round trip took 10 hours? Round to the nearest tenth of a mile if necessary.
(A 2,166.7 miles
}B. 565.2 miles . .
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2.7-26 An airplane flies 410 miles with the wind and 330 against the wind in the same length of time. If
the speed of the wind is 20 mph, what is the speed of the airplane in still air?

OA. 175 mph
()B. 185 mph
{C. 82.5mph
OID. 190 mph
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2.7-28 Adam and David were both driving east on the same highway. At 4:00 P.M., Adam, traveling at 55
miles per hour, was 20 miles east of David. A little later, David, travehng at 65 miles per hour,
passed Adam. At what time did David pass Adam?
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